Assembly Instructions
= | ROOMS T@ G@ PATIO  \aNTRA ROUND WICKER DINING TABLE W/ GLASS

Sku # 75056789

Manufactured By NHKL For Rooms To Go Version1,0 9/2024

Hardware Pack Location(s):
MANTRA ROUND WICKER DINING TABLE W/ GLASS, Sku # 75056789



- Assembly Instructions
= | ROOMS T@ G@ PATIO  \aNTRA ROUND WICKER DINING TABLE W/ GLASS

Sku # 75056789
Manufactured By NHKL For Rooms To Go Version1,0 9/2024
Part List
No Description Sketch Qty
A Table Top Assembly 1
B Glass Top (Securely Tied to Table 1
Top Assembly “A”)

C Table-Foot 4
D Washer — M6 X 16 16
E SPRING WASHER M6 16
F Bolt— M6 X 20 16
G Allen Key — 4MM 1

Hardware Pack Location(s):
MANTRA ROUND WICKER DINING TABLE W/ GLASS, Sku # 75056789



- Assembly Instructions
= | ROOMS T@ G@ PATIO  \aNTRA ROUND WICKER DINING TABLE W/ GLASS

Sku # 75056789
Manufactured By NHKL For Rooms To Go Version1,0 9/2024

***Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and
heavy. Therefore, two people are recommended in order to prevent personal injury and insure the parts are not damaged
during the assembly.

CAUTION: Do Not cut the cables securing the Glass Top (B)
to the Table Top Assembly (A).

STEP 1: Lay table top assembly (A) facing
upside down on a soft and smooth surface
to prevent damage to the Glass Top (B)
that is secured to the table top frame.

STEP 2: Attach Table-Foot (C) to Table Top Assembly (A) using 16x
Washer — M6 X 16 (D), 16x SPRING WASHER M6 (E) 16x Bolt — M6 X
20 (F) with Allen Key — 4MM (G). Please tighten fully! A T T00%

i

Hardware Pack Location(s):
MANTRA ROUND WICKER DINING TABLE W/ GLASS, Sku # 75056789



- Assembly Instructions
= | ROOMS T@ G@ PATIO  \aNTRA ROUND WICKER DINING TABLE W/ GLASS

Sku # 75056789

Manufactured By NHKL For Rooms To Go Version1,0 9/2024

***Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and
heavy. Therefore, two people are recommended in order to prevent personal injury and insure the parts are not damaged
during the assembly.

STEP 3: Carefully turn the product over,
then cut off the cables securing the Glass
Top (B) and enjoy!

Hardware Pack Location(s):
MANTRA ROUND WICKER DINING TABLE W/ GLASS, Sku # 75056789



